Evaluating Functions, Finding the Domain and Difference Quotient

1. Evaluate the function at each value and simplify.

a) f(x)=5x-2 .Y:(X‘: Sx-2
TRt (BT (v D2
=\5-3 =S x+\Q -3
=\'\>® | ):— Sx “’3J
b) f(x)=x"-2x 4:{ o
)= ¥ -2
Fora LR
- (3 -Z(£ te B (a2 -l x4+2)
= 2- 2 ~Cx+30(x 42} ~2(x+2)
= _x*+ % PH X% 4
LeDzY ;\)\“.u.ux i
:_Cj__&
4T
=\
U
x2+2, x<1 &—
9 f( ):{ZXZ—L X>1le—
f(-2)= f(1)= f(2)=
Xt “;1 AL+ aAxt -\
(-2 YL Rl 2 03) =\
Qin= @ |+ -‘-\23 AN~

%—-\=E



Domain - the set of allowable x values

Restrictions

— Fraction —  Even Root
Denominator = 0 Radicand > 0
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Difference Quotient f(x+h)-f(x)

3. Find the difference quotient and simplify your answer.
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